KYUNGPOOK Math. J. 57(2017), 109-124
http://doi.org/10.5666/KMJ.2017.57.1.109
pISSN 1225-6951 eISSN 0454-8124
(c) Kyungpook Mathematical Journal

# Some New Subclasses of Analytic Functions defined by Srivastava-Owa-Ruscheweyh Fractional Derivative Operator 

Khalida Inayat Noor and Rashid Murtaza<br>Department of Mathematics, COMSATS Institute of Information Technology Park<br>Road, Islamabad, Pakistan<br>e-mail: khalidanoor@hotmail.com and rashid.murtaza765@gmail.com<br>Janusz Sokóe*<br>Faculty of Mathematics and Natural Sciences, University of Rzeszów, ul. Prof. Pigonia 1, 35-310 Rzeszów, Poland<br>e-mail: jsokol@prz.edu.pl

Abstract. In this article the Srivastava-Owa-Ruscheweyh fractional derivative operator $\mathcal{L}_{a, \lambda}^{\alpha}$ is applied for defining and studying some new subclasses of analytic functions in the unit disk $E$. Inclusion results, radius problem and other results related to Bernardi integral operator are also discussed. Some applications related to conic domains are given.

## 1. Introduction

Let $\mathcal{A}$ denote the class of all normalized functions of the form

$$
\begin{equation*}
f(z)=z+\sum_{j=2}^{\infty} a_{j} z^{j}, z \in E \tag{1.1}
\end{equation*}
$$

which are analytic in the open unit disk $E=\{z:|z|<1\}$.
Let $\mathcal{S}, \mathcal{C}, \mathcal{S}^{*}, \mathcal{C}(\beta)$ and $\mathcal{S}^{*}(\beta)$ denote the subclasses of $\mathcal{A}$ consisting of functions that are univalent, convex, starlike, convex of order $\beta$ and starlike of order $\beta$ in $E$ respectively, see [10]. For the functions

$$
f(z)=z+\sum_{j=2}^{\infty} a_{j} z^{j} \quad \text { and } \quad g(z)=z+\sum_{j=2}^{\infty} b_{j} z^{j}, z \in E
$$

* Corresponding Author.

Received January 5, 2016; revised September 4, 2016; accepted December 6, 2016. 2010 Mathematics Subject Classification: 30C10, 30C45 .
Key words and phrases: analytic functions, convolution, subordination, Srivastava-OwaRuscheweyh fractional derivative operator, multiplier linear fractional differential operator, gamma function, incomplete beta function.
the convolution (Hadamard product) is defined as

$$
\begin{equation*}
(f * g)(z)=z+\sum_{j=2}^{\infty} a_{j} b_{j} z^{j}=(g * f)(z), z \in E \tag{1.2}
\end{equation*}
$$

Let $f$ and $g$ be analytic functions in $E$. Then $f$ is said to be subordinate to g written as $f \prec g$ and $f(z) \prec g(z), z \in E$, if there exits a Schwarz function $\omega$ analytic in $E$, with $\omega(0)=0$ and $|\omega(z)|<1$ for $z \in E$, such that $f(z)=g(\omega(z))$, $z \in E$.

Recently, the theory of fractional calculus has found interesting applications in the theory of analytic functions. The classical definitions of fractional operators and their generalizations have fruitfully been applied in obtaining, for example, the characterization properties, coefficient estimates, distortion inequalities and convolution structures for various subclasses of analytic functions.

The fractional derivative of order $\alpha, 0 \leq \alpha<1$ is defined in [23] as follows

$$
\begin{equation*}
D_{z}^{\alpha} f(z)=\frac{1}{\Gamma(1-\alpha)} \frac{\mathrm{d}}{\mathrm{~d} z} \int_{0}^{z} \frac{f(t)}{(z-t)^{\alpha}} \mathrm{d} t, 0 \leq \alpha<1, z \in E \tag{1.3}
\end{equation*}
$$

where the function $f(z)$ is analytic in a simply connected domain in the complex plane containing the origin and the multiplicity of $(z-t)^{-\alpha}$ is removed by requiring $\log (z-t) \in \mathbb{R}$, whenever $(z-t)>0$. The gamma function $\Gamma$ is defined as

$$
\Gamma(z)=\int_{0}^{\infty} e^{-x} x^{z-1} \mathrm{~d} x, \quad \Re \mathfrak{e} z>0
$$

Note that

$$
D_{z}^{0} f(z)=f(z)
$$

Owa and Srivastava [24, 30] introduced the operator $\Omega^{\alpha}: \mathcal{A} \rightarrow \mathcal{A}$ as follows

$$
\begin{align*}
\Omega^{\alpha} f(z) & =\Gamma(2-\alpha) z^{\alpha} D_{z}^{\alpha} f(z), 0 \leq \alpha<1 \\
& =z+\sum_{j=2}^{\infty} \frac{\Gamma(1+j) \Gamma(2-\alpha)}{\Gamma(1+j-\alpha)} a_{j} z^{j}, z \in E  \tag{1.4}\\
& =\phi(2,2-\alpha ; z) * f(z)
\end{align*}
$$

where the incomplete beta function $\phi(a, c ; z)$ is defined as follows

$$
\phi(a, c ; z)=\sum_{j=0}^{\infty} \frac{\Gamma(a+j) \Gamma(c)}{\Gamma(c+j) \Gamma(a)} z^{j}
$$

where $a, c$ are complex numbers different from $0,-1,-2, \ldots$. It can be seen that

$$
\Omega^{0} f(z)=f(z)
$$

Mishra and Gochhayat [19] have studied some properties of the operator $\Omega^{\alpha}$ and introduced new subclass of $k$-uniformly convex functions. In a recent paper Ibrahim and Darus [12] introduced the fractional differential subordination based on the operator $\Omega^{\alpha}$. Srivastava and Mishra [29] studied the applications of fractional calculus to the parabolic starlike and uniformly convex functions using the operator $\Omega^{\alpha}$.

Al-Oboudi $[1,2]$ defined the linear multiplier fractional differential operator of order 1 as follows

$$
\begin{align*}
\mathfrak{D}_{\lambda}^{\alpha} f(z) & =(1-\lambda) \Omega^{\alpha} f(z)+\lambda z\left(\Omega^{\alpha} f(z)\right)^{\prime} \\
& =z+\sum_{j=2}^{\infty} \frac{\Gamma(1+j) \Gamma(2-\alpha)}{\Gamma(1+j-\alpha)}(1+\lambda(j-1)) a_{j} z^{j},  \tag{1.5}\\
& =\phi(2,2-\alpha ; z) * g_{\lambda}(z) * f(z), z \in E,
\end{align*}
$$

where $0 \leq \lambda \leq 1,0 \leq \alpha<1$ and

$$
\begin{equation*}
g_{\lambda}(z)=\frac{z-(1-\lambda) z^{2}}{(1-z)^{2}}, 0 \leq \lambda \leq 1 \tag{1.6}
\end{equation*}
$$

Obviously

$$
\mathfrak{D}_{0}^{\alpha} f(z)=\Omega^{\alpha} f(z)
$$

where $\Omega^{\alpha}$ was defined by (1.4) and

$$
\mathfrak{D}_{0}^{0} f(z)=\Omega^{0} f(z)=f(z)
$$

Bulut $[5,6,7,8]$ used the Al-Oboudi fractional differential operator of order $n$ to define some new integral operators and obtain interesting results. Recently, Noor et al [22] used fractional derivative to define some new subclasses of analytic functions in the conic regions. Now for $a>0$, let

$$
\begin{aligned}
k_{a}(z) & =\frac{z}{(1-z)^{a}} \\
& =z+\sum_{j=2}^{\infty} \frac{\Gamma(a+j-1)}{\Gamma(a) \Gamma(j)} z^{j}, z \in E .
\end{aligned}
$$

Ozkan [25] defined the convolution of $f$ given by (1.1) and $k_{a}(z)$ such that

$$
\left(k_{a} * f\right)(z)=z+\sum_{j=2}^{\infty} \frac{\Gamma(a+j-1)}{\Gamma(a) \Gamma(j)} a_{j} z^{j}, z \in E
$$

Now extending the concept of $[4]$ and $[25,30]$, we define the Srivastava-Owa-

Ruscheweyh $\mathcal{L}_{a, \lambda}^{\alpha}: \mathcal{A} \rightarrow \mathcal{A}$ as follows

$$
\begin{aligned}
\mathcal{L}_{a, \lambda}^{\alpha} f(z) & =\frac{z}{(1-z)^{a}} * \mathfrak{D}_{\lambda}^{\alpha} f(z) \\
& =z+\sum_{j=2}^{\infty} \frac{\Gamma(a+j-1) \Gamma(2-\alpha) \Gamma(j+1)}{\Gamma(1+j-\alpha) \Gamma(a) \Gamma(j)}\{1+\lambda(j-1)\} a_{j} z^{j} \\
& =\frac{z}{(1-z)^{a}} * \phi(2,2-\alpha ; z) * g_{\lambda}(z) * f(z), z \in E,
\end{aligned}
$$

which is called the Srivastava-Owa-Ruscheweyh fractional derivative operator.
It can easily be seen that
(i) For $\alpha=0, \lambda=0$.

$$
\mathcal{L}_{a, 0}^{0} f(z)=\left(k_{a} * f\right)(z)
$$

see [25].
(ii) For $a=n+1>0, \alpha=0, \lambda=0$.

$$
\mathcal{L}_{n+1,0}^{0} f(z)=\frac{z}{(1-z)^{n+1}} * f(z)
$$

see [28].
(iii) For $a=n+1>0, \alpha=0$.

$$
\mathcal{L}_{n+1,0}^{0} f(z)=\frac{z}{(1-z)^{n+1}} * \mathfrak{D}_{\lambda}^{0} f(z)
$$

see [26].
From the definition of $\mathcal{L}_{a, \lambda}^{\alpha}$, we can establish the following identity as well

$$
\begin{equation*}
(a-1)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}=a\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right) \tag{1.7}
\end{equation*}
$$

We assume that $h$ is analytic, convex, univalent in $E$ with $h(0)=1$ and $\mathfrak{R e} h(z)>0$, $z \in E$. Using the operator $\mathcal{L}_{a, \lambda}^{\alpha}$, we define the following
Definition 1.1. Let $\mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$ be the class of functions $f \in \mathcal{A}$ satisfying

$$
\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta z^{2}\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime}}{(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}} \prec h(z),
$$

for $a>0,0 \leq \delta \leq 1,0 \leq \lambda \leq 1,0 \leq \alpha<1$ and for all $z \in E$.
We note that the class $\mathcal{P}_{a, 0}^{0}(h, \delta)=\mathcal{P}_{a}(h, \delta)$, was studied by Ozkan in [25] and the class $\mathcal{P}_{a, 0}^{0}(h, 0)=\mathcal{S}_{a}(h)$, was studied by Padmanabhan and Parvatham in [26].

Obviously, for the special choices of function $h$ and parameters $\alpha, a, \lambda$, we have the following relationship.

$$
\begin{aligned}
\mathcal{P}_{1,0}^{0}\left(\frac{1+z}{1-z}, 0\right) & =\mathcal{S}^{*}, \mathcal{P}_{2,0}^{0}\left(\frac{1+z}{1-z}, 0\right)=\mathcal{P}_{1,0}^{0}\left(\frac{1+z}{1-z}, 1\right)=\mathcal{C} \\
\mathcal{P}_{1,0}^{0}\left(\frac{1+(1-2 \beta) z}{1-z}, 0\right) & =\mathcal{S}^{*}(\beta), \quad 0 \leq \beta<1 \\
\mathcal{P}_{2,0}^{0}\left(\frac{1+(1-2 \beta) z}{1-z}, 0\right) & =\mathcal{P}_{1,0}^{0}\left(\frac{1+(1-2 \beta) z}{1-z}, 1\right)=\mathcal{C}(\beta) .
\end{aligned}
$$

Definition 1.2. Let $\mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$ denote the subclass of $\mathcal{A}$ consisting of the functions $f$ which satisfies the following condition

$$
(1-\gamma) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime} \prec h(z)
$$

for some $a>0,0 \leq \lambda \leq 1,0 \leq \alpha<1,0 \leq \gamma \leq 1$ and for all $z \in E$. Note that

$$
\mathcal{T}_{a, 0}^{0}(h, \gamma)=\mathcal{T}_{a}(h, \gamma)
$$

see [25].
Definition 1.3. Let $\mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma)$ be the class of functions $f \in \mathcal{A}$ which satisfies the following condition

$$
\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\gamma z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime} \prec h(z)
$$

for some $a>0,0 \leq \lambda \leq 1,0 \leq \alpha<1,0 \leq \gamma \leq 1$ and for all $z \in E$.

## 2. Preliminaries

To prove our main results, we need the following Lemmas.
Lemma 2.1.([18]) Let $h$ be analytic, univalent, convex in $E$, with $h(0)=1$ and $\mathfrak{R e}\left[\beta_{1} h(z)+\gamma_{1}\right]>0, \beta_{1}, \gamma_{1} \in \mathbb{C}, z \in E$. If $p$ is analytic in $E$, with $p(0)=h(0)$, then

$$
p(z)+\frac{z p^{\prime}(z)}{\beta_{1} p(z)+\gamma_{1}} \prec h(z)
$$

implies

$$
p(z) \prec h(z) .
$$

Lemma 2.2.([11]) Let $h$ be analytic, univalent, convex in $E$, with $h(0)=1$. Let $p$ be analytic in $E$, with $p(0)=h(0)$. If $\gamma_{2} \neq 0$, $\mathfrak{R e} \gamma_{2} \geq 0$ and

$$
p(z)+\frac{z p^{\prime}(z)}{\gamma_{2}} \prec h(z), \quad \gamma_{2} \neq 0, z \in E
$$

then

$$
p(z) \prec q(z) \prec h(z)
$$

where

$$
q(z)=\frac{\gamma_{2}}{z^{\gamma_{2}}} \int_{0}^{z} t^{\gamma_{2}-1} h(t) \mathrm{d} t
$$

Lemma 2.3.([9]) If $\psi \in \mathcal{C}, g \in \mathcal{S}^{*}$ and $F$ is analytic function with $\mathfrak{R e}(F(z))>0$ for $z \in E$, then

$$
\mathfrak{R e}\left(\frac{(\psi * F g)(z)}{(\psi * g)(z)}\right)>0, z \in E
$$

Lemma 2.4.([21]) Let $p(z)$ and $q(z)$ be analytic in $E$, with $p(0)=q(0)=1$ and $\mathfrak{R e}(q(z))>\frac{1}{2}$ for $|z|<\rho,(0<\rho \leq 1)$. Then the image of $E_{\rho}=\{z:|z|<\rho\}$ under $p * q$ is a subset of closed convex hull of $p(E)$.

## 3. Main Results

In this section, we will prove our main results.
Theorem 3.1. Assume that $a \geq 1,0 \leq \delta \leq 1,0 \leq \lambda \leq 1,0 \leq \alpha<1$ and

$$
\begin{equation*}
\frac{1}{z}\left\{(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime}\right\} \neq 0 \quad z \in E \tag{3.1}
\end{equation*}
$$

Then

$$
\mathcal{P}_{a+1, \lambda}^{\alpha}(h, \delta) \subset \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta), \text { for all } z \in E
$$

Proof. We suppose that $f \in \mathcal{P}_{a+1, \lambda}^{\alpha}(h, \delta)$ and let

$$
\begin{equation*}
p(z)=\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta z^{2}\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime}}{(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}} \tag{3.2}
\end{equation*}
$$

Then by (3.1) the function $p(z)$ is analytic in $E$, with $p(0)=1$. From (1.7) and (3.2), we obtain

$$
\begin{equation*}
p(z)+\frac{z p^{\prime}(z)}{p(z)+(a-1)}=\frac{a z\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta a z^{2}\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime \prime}}{(1-\delta) a\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)+\delta a z\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime}} \tag{3.3}
\end{equation*}
$$

Since $f \in \mathcal{P}_{a+1, \lambda}^{\alpha}(h, \delta)$, therefore by using (3.2), we have

$$
p(z)+\frac{z p^{\prime}(z)}{p(z)+(a-1)} \prec h(z) \text { in } E .
$$

Thus it follows from the Lemma 2.1 that

$$
p(z) \prec h(z) \text { for } a \geq 1 \text { in } E .
$$

Hence $f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$ for $a \geq 1$.
As special cases of Theorem 3.1, we have the following results.
Corollary 3.2.([25]) If (3.1) is satisfied for $\alpha=0$ and $\lambda=0$, then $\mathcal{P}_{a+1,0}^{0}(h, \delta) \subset$ $\mathcal{P}_{a, 0}^{0}(h, \delta)$.

Corollary 3.3. If (3.1) is satisfied for $\delta=0, \alpha=0, \lambda=0, a=1$ and $h(z)=\frac{1+z}{1-z}$, $\mathcal{P}_{2,0}^{0}\left(\frac{1+z}{1-z}, 0\right) \subset \mathcal{P}_{1,0}^{0}\left(\frac{1+z}{1-z}, 0\right)$. That is $\mathcal{C} \subset \mathcal{S}^{*}, z \in E$.
Theorem 3.4. Assume that

$$
\begin{equation*}
\frac{1}{z}\left\{(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)^{\prime}\right\} \quad z \in E . \tag{3.4}
\end{equation*}
$$

If $f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$ for $a \geq 1$, then $F_{c} \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$, where $F_{c}$ is defined as

$$
\begin{equation*}
F_{c}(z)=\frac{1+c}{z^{c}} \int_{0}^{z} t^{c-1} f(t) \mathrm{d} t, c>-1, z \in E \tag{3.5}
\end{equation*}
$$

Proof. Suppose that $f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$ and let

$$
\begin{equation*}
p(z)=\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)^{\prime}+\delta z^{2}\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)^{\prime \prime}}{(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)^{\prime}} \tag{3.6}
\end{equation*}
$$

Then by (3.4) the function $p(z)$ is analytic in $E$, with $p(0)=1$. From (3.3), we can write

$$
z\left(F_{c}(z)\right)^{\prime}+c F_{c}(z)=(1+c) f(z)
$$

This means that

$$
\begin{equation*}
z\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)^{\prime}+c\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)=(1+c)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right) \tag{3.7}
\end{equation*}
$$

From (3.4) and (3.5), we have

$$
\begin{equation*}
p(z)+\frac{z p^{\prime}(z)}{p(z)+c}=\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta z^{2}\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime}}{(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}} \tag{3.8}
\end{equation*}
$$

Since $f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$, therefore from (3.6), it follows that

$$
p(z)+\frac{z p^{\prime}(z)}{p(z)+c} \prec h(z) \text { in } E .
$$

This implies by using Lemma 2.1 with $\beta_{1}=1$ and $\gamma_{1}=c$ that $p(z) \prec h(z)$ in $E$. Thus $F_{c} \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$ in $E$.

Taking $a=1, \alpha=0, \lambda=0, h(z)=\frac{1+z}{1-z}, z \in E$ in Theorem 3.4, we deduce Theorem 1 and Theorem 2 of Bernardi [3] with $\delta=0$ and $\delta=1$ respectively.

Theorem 3.5. For $a>0,0 \leq \gamma \leq 1,0 \leq \lambda \leq 1,0 \leq \alpha<1$, we have

$$
\mathcal{T}_{a+1, \lambda}^{\alpha}(h, \gamma) \subset \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)
$$

Proof. Suppose that $f \in \mathcal{T}_{a+1, \lambda}^{\alpha}(h, \gamma)$ and let

$$
\begin{equation*}
p(z)=(1-\gamma) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime} \tag{3.9}
\end{equation*}
$$

where $p(z)$ is analytic in $E$, with $p(0)=1$. Taking $\delta=1$ in (1.7), we obtain

$$
\begin{equation*}
z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}=a\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)-(a-1)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right) \tag{3.10}
\end{equation*}
$$

Differentiating (3.8) and using (3.7), we have

$$
\begin{equation*}
p(z)+\frac{z p^{\prime}(z)}{a}=(1-\gamma) \frac{\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)}{z}+\gamma\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime} \tag{3.11}
\end{equation*}
$$

Now by applying Lemma 2.2 and from (3.9), we can write $p \prec h$ in $E$. Thus $f \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$ in $E$.
Theorem 3.6. If $f \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$, then $F_{c} \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$, where $F_{c}$ is defined by (3.3).
Proof. We assume that $f \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$. Let

$$
\begin{equation*}
p(z)=(1-\gamma) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha} F_{c}(z)\right)^{\prime} \tag{3.12}
\end{equation*}
$$

where $p(z)$ is analytic in $E$, with $p(0)=1$. From (3.8) and (3.10), we obtain

$$
\begin{equation*}
p(z)+\frac{z p^{\prime}(z)}{1+c}=(1-\gamma) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime} \tag{3.13}
\end{equation*}
$$

Using Lemma 2.2 with (3.11), we have $p \prec h$ in $E$ and hence $F_{c} \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$.
For $\alpha=0, \lambda=0$, we have the following result, see [25].
Corollary 3.7. If $f \in \mathcal{T}_{a, 0}^{0}(h, \gamma)=\mathcal{T}_{a}(h, \gamma)$, then $F_{c} \in \mathcal{T}_{a}(h, \gamma)$, where $F_{c}$ is defined by (3.3).
Theorem 3.8. For $a>0,0 \leq \gamma \leq 1,0 \leq \lambda \leq 1,0 \leq \alpha<1$, we have

$$
\mathcal{M}_{a+1, \lambda}^{\alpha}(h, \gamma) \subset \mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma)
$$

Proof. Let $f \in \mathcal{M}_{a+1, \lambda}^{\alpha}(h, \gamma)$ and

$$
\begin{equation*}
p(z)=\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\gamma z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime} \tag{3.14}
\end{equation*}
$$

where $p(z)$ is analytic in $E$, with $p(0)=1$.

Differentiating (3.8) and using (3.12), we obtain

$$
\begin{equation*}
p(z)+\frac{z p^{\prime}(z)}{a}=\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime}+\gamma z\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime \prime} . \tag{3.15}
\end{equation*}
$$

Since $f \in \mathcal{M}_{a+1, \lambda}^{\alpha}(h, \gamma)$, therefore

$$
\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime}+\gamma z\left(\mathcal{L}_{a+1, \lambda}^{\alpha} f(z)\right)^{\prime \prime} \prec h(z) \text { for all } z \in E .
$$

By using (3.13), it follows that

$$
p(z)+\frac{z p^{\prime}(z)}{a} \prec h(z) \text { in } E .
$$

Now by using Lemma 2.2, we obtain $p \prec h$ in $E$ and hence $f \in \mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma)$.
Corollary 3.9.([25]) For $\alpha=0, \lambda=0$, we have

$$
\mathcal{M}_{a+1,0}^{0}(h, \gamma) \subset \mathcal{M}_{a, 0}^{0}(h, \gamma) .
$$

## Theorem 3.10.

(i) $f \in \mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma) \Leftrightarrow z f^{\prime} \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$,
(ii) $\mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma) \subset \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$.

Proof. (i) Let $f \in \mathcal{N}_{a, \lambda}^{\alpha}(h, \gamma)$. Now using the fact

$$
z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}=\left(\mathcal{L}_{a, \lambda}^{\alpha}\left(z f^{\prime}(z)\right),\right.
$$

we can write

$$
\begin{equation*}
(1-\gamma) \frac{\mathcal{L}_{a, \lambda}^{\alpha}\left(z f^{\prime}(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha}\left(z f^{\prime \prime}(z)\right)\right)^{\prime}=\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\gamma z\left(\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime} .\right. \tag{3.16}
\end{equation*}
$$

Since $f \in \mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma)$, therefore

$$
\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\gamma z\left(\mathcal{L} \zeta_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime} \prec h(z) \text { in } E .
$$

From (3.14), it follows that

$$
(1-\gamma) \frac{\mathcal{L}_{a, \lambda}^{\alpha}\left(z f^{\prime}(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha}\left(z f^{\prime}(z)\right)\right)^{\prime} \text { in } E .
$$

Hence $z f^{\prime} \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$.
(ii) Let $f \in \mathcal{M}_{a, \lambda}^{\alpha, \lambda}(h, \gamma)$ and let

$$
\begin{equation*}
p(z)=(1-\gamma) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime} \tag{3.17}
\end{equation*}
$$

where $p(z)$ is analytic in $E$, with $p(0)=1$. From (3.15), we obtain

$$
p(z)+z p^{\prime}(z)=\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\gamma z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime}
$$

Thus from Lemma 2.2, we have $p \prec h$ in $E$. Hence $f \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$.
For $\alpha=0, \lambda=0$, we have some well known results due to [25].

## Corollary 3.11.

(i) $f \in \mathcal{M}_{a, 0}^{0}(h, \gamma) \Leftrightarrow z f^{\prime} \in \mathcal{T}_{a, 0}^{0}(h, \gamma)$,
(ii) $\mathcal{M}_{a, 0}^{0}(h, \gamma) \subset \mathcal{T}_{a, 0}^{0}(h, \gamma)$.

Theorem 3.12. For $\gamma>\eta \geq 0,0 \leq \lambda \leq 1,0 \leq \alpha<1$, we have
(i) $\mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma) \subset \mathcal{T}_{a, \lambda}^{\alpha}(h, \eta)$,
(ii) $\mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma) \subset \mathcal{M}_{a, \lambda}^{\alpha}(h, \eta)$.

Proof. (i). The case $\eta=0$ is trivial. Suppose that $\eta>0$. Let $f \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$ and let $z_{1}$ be any arbitrary point in $E$. Then

$$
(1-\gamma) \frac{\mathcal{L}_{a, \lambda}^{\alpha} f\left(z_{1}\right)}{z_{1}}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha} f\left(z_{1}\right)\right)^{\prime} \in h(E)
$$

Since $\frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z} \in h(E)$, we can write the following equality

$$
\begin{align*}
& (1-\eta) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\eta\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}  \tag{3.18}\\
= & \left(1-\frac{\eta}{\gamma}\right) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\frac{\eta}{\gamma}\left[(1-\gamma) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\gamma\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}\right] .
\end{align*}
$$

Now as $\frac{\eta}{\gamma}<1$ and $h(E)$ is convex. Therefore from (3.16), it follows that

$$
(1-\eta) \frac{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)}{z}+\eta\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime} \in h(E)
$$

Thus $f \in \mathcal{T}_{a, \lambda}^{\alpha}(h, \eta)$.
The proof of part (ii) is similar to (i).
Theorem 3.13. If $\Psi \in \mathcal{C}$ and $f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$, then $\Psi * f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$, for $a \geq 1$.
Proof. Let $\Psi \in \mathcal{C}, G(z)=(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime} \in \mathcal{S}^{*}(h) \subset \mathcal{S}^{*}$ and
$p(z)=\frac{z G^{\prime}(z)}{G(z)}$. Consider

$$
\begin{align*}
& \frac{z\left[(1-\delta)\left\{\Psi * \mathcal{L}_{a, \lambda}^{\alpha} f(z)\right\}^{\prime}+\delta\left\{z\left(\Psi * \mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}\right\}^{\prime}\right]}{(1-\delta)\left\{\Psi * \mathcal{L}_{a, \lambda}^{\alpha} f(z)\right\}+\delta z\left\{\Psi * \mathcal{L}_{a, \lambda}^{\alpha} f(z)\right\}^{\prime}} \\
= & \frac{\Psi *\left[(1-\delta) z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta z\left\{\left(z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}\right\}^{\prime}\right]\right.}{\Psi *\left[(1-\delta) \mathcal{L}_{a, \lambda}^{\alpha} f(z)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}\right]} \\
= & \frac{\Psi * z G^{\prime}(z)}{\Psi * G(z)} \\
= & \frac{(\Psi * p G)(z)}{(\Psi * G)(z)} \tag{3.19}
\end{align*}
$$

where $p(z)=\frac{z G^{\prime}(z)}{G(z)} \prec h(z)$ in $E$. We now apply Lemma 2.3 and using (3.17), we have $\Psi * f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$.

Note that the above result also holds for the classes $\mathcal{T}_{a, \lambda}^{\alpha}(h, \gamma)$ and $\mathcal{M}_{a, \lambda}^{\alpha}(h, \gamma)$.

Theorem 3.14. For $\delta \geq 0,0 \leq \lambda \leq 1,0 \leq \alpha<1$, we have

$$
\mathcal{P}_{a, \lambda}^{\alpha}(h, \delta) \subset \mathcal{P}_{a, \lambda}^{\alpha}(h, 0) .
$$

Proof. The case $\delta=0$ is trivial, so we suppose that $\delta>0$. Assume that $f \in$ $\mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$ and let

$$
N(z)=(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}
$$

Then

$$
\frac{z N^{\prime}(z)}{N(z)}=\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta z^{2}\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime}}{(1-\delta)\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}
$$

This means that $\frac{z N^{\prime}(z)}{N(z)} \prec h(z)$ in $E$. That is $N \in \mathcal{S}^{*}(h)$. Let

$$
\begin{equation*}
p(z)=\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}{\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)} \tag{3.20}
\end{equation*}
$$

where $p(z)$ is analytic in $E$, with $p(0)=1$. Now

$$
\begin{aligned}
\frac{z N^{\prime}(z)}{N(z)} & =\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta z^{2}\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime}}{(1-\delta) \mathcal{L}_{a, \lambda}^{\alpha} f(z)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}} \\
& =\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\delta z\left\{\left(z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}\right\}^{\prime}-\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)\right.}{(1-\delta) \mathcal{L}_{a, \lambda}^{\alpha} f(z)+\delta z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}} \\
& =\frac{(1-\delta) \frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}{\mathcal{L}_{a, \lambda}^{\alpha} f(z)}+\delta z \frac{\left(z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}\right)^{\prime}}{\mathcal{L}_{a, \lambda}^{\alpha} f(z)}}{(1-\delta)+\delta \frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}{\mathcal{L}_{a, \lambda}^{\alpha} f(z)}} .
\end{aligned}
$$

Therefore using (3.18), we obtain

$$
\begin{aligned}
\frac{z N^{\prime}(z)}{N(z)} & =\frac{(1-\delta) p(z)+\delta\left(p^{2}(z)+z p^{\prime}(z)\right)}{(1-\delta)+\delta p(z)} \\
& =p(z)+\frac{z p^{\prime}(z)}{p(z)+(1 / \delta-1)}
\end{aligned}
$$

Since $\frac{z N^{\prime}(z)}{N(z)} \prec h(z)$ in $E$. This implies that

$$
p(z)+\frac{z p^{\prime}(z)}{p(z)+(1 / \delta-1)} \prec h(z) \text { in } E .
$$

Now by using Lemma 2.2, we have $p(z) \prec h(z)$ in $E$. Thus $f \in \mathcal{P}_{a, \lambda}^{\alpha}(h, \delta)$.

## 4. Applications

For different choices of analytic function $h$, we have some applications of the main results. For $k \in[0, \infty)$, Kanas $[13,14,15]$ defined the conic domain $\Omega_{k}$ as follows

$$
\Omega_{k}=\left\{u+i v: u>k \sqrt{(u-1)^{2}+v^{2}}\right\}
$$

For $k=0$, this domain represents the whole right half plane. Also we obtain the right branch of hyperbola for $0<k<1$, the parabola for $k=1$ and the ellipse for $k>1$. The following functions $p_{k}(z)$ are univalent with $p_{k}(0)=1, p_{k}^{\prime}(0)>0$ and plays the role of extremal functions mapping $E$ onto the conic domains $\Omega_{k}$

$$
p_{k}(z)=\left\{\begin{array}{lr}
\frac{1+z}{1-z}, & k=0 \\
1+\frac{2}{\pi^{2}}\left[\log \left(\frac{1+\sqrt{z}}{1-\sqrt{z}}\right)\right]^{2}, & k=1 \\
1+\frac{2}{1-k^{2}} \sinh ^{2}\left(\frac{2}{\pi} \cos ^{-1}\right) \tanh ^{-1} \sqrt{z} & 0<k<1 \\
1+\frac{2}{k^{2}-1} \sin \left\{\frac{2}{2 R(t)} \int_{0}^{\frac{u(z)}{\sqrt{z}}} \frac{1}{\sqrt{1-x^{2}} \sqrt{1-(t x)^{2}}} \mathrm{~d} x\right\}+\frac{1}{k^{2-1}}, & k>1
\end{array}\right.
$$

Here $u(z)=\frac{z-\sqrt{t}}{1-\sqrt{t z}}, t \in(0,1), z \in E$ and $z$ is chosen such that $k=\cosh \left(\frac{\pi R^{\prime}(t)}{4 R(t)}\right)$, $R(t)$ is Legender's elliptic integral of the first kind and $R^{\prime}(t)$ is the complementary integral of $R(t)$. For details, we refer to [13], [14], [15] and [20]. In [16] some linear operators associated with $k$-uniformly convex functions were considered. Now by choosing $h(z)=p_{k}(z)$ in Theorem 3.14 , we can easily prove the following

Corollary 4.1. For $\delta \geq 0,0 \leq \lambda \leq 1,0 \leq \alpha<1$, we have

$$
\mathcal{P}_{a, \lambda}^{\alpha}\left(p_{k}, \delta\right) \subset \mathcal{P}_{a, \lambda}^{\alpha}\left(q_{k}, 0\right)
$$

where

$$
q_{k}(z)=\left[\int_{0}^{1}\left(\exp \int_{t}^{t z} \frac{p_{k}(u)-1}{u} \mathrm{~d} u\right) \mathrm{d} t\right]^{-1}
$$

Some of the special cases are given as follows.
(i) Let $k=0$. Then $f \in \mathcal{P}_{a, \lambda}^{\alpha}\left(\frac{1+z}{1-z}, \delta\right) \Rightarrow f \in \mathcal{P}_{a, \lambda}^{\alpha}\left(\frac{1}{1-z}, 0\right)$. That is

$$
\mathfrak{R e}\left(\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}{\mathcal{L}_{a, \lambda}^{\alpha} f(z)}\right)>\frac{1}{2} \text { in } E .
$$

(ii) For $k=1$, we have

$$
\mathcal{P}_{a, \lambda}^{\alpha}\left(\left(1+\frac{2}{\pi^{2}}\left[\log \left(\frac{1+\sqrt{z}}{1-\sqrt{z}}\right)\right]^{2}, \delta\right)\right) \subset \mathcal{P}_{a, \lambda}^{\alpha}\left(q_{1}, 0\right)
$$

and

$$
\mathfrak{R e}\left(\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}{\mathcal{L}_{a, \lambda}^{\alpha} f(z)}\right)>q_{1}(-1)=\frac{1}{2}
$$

(iii) Let $k>1$ and $f \in \mathcal{P}_{a, \lambda}^{\alpha}\left(p_{k}, \delta\right) \Rightarrow f \in \mathcal{P}_{a, \lambda}^{\alpha}\left(\frac{z}{(z-k) \log \left(1-\frac{z}{k}\right)}, 0\right)$. That is

$$
\mathfrak{R e}\left(\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}{\mathcal{L}_{a, \lambda}^{\alpha} f(z)}\right)>\frac{1}{(k+1) \log \left(1+\frac{1}{k}\right)}
$$

(iv) For the case $k=2$, we note that $\mathcal{P}_{a, \lambda}^{\alpha}\left(p_{2}, \delta\right) \subset \mathcal{P}_{a, \lambda}^{\alpha}\left(q_{2}, 0\right)$. This gives us

$$
\mathfrak{R e}\left(\frac{z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}}{\mathcal{L}_{a, \lambda}^{\alpha} f(z)}\right)>q_{2}(-1)=\frac{1}{3 \log \frac{3}{2}} \approx 0.813
$$

Now we prove a radius result for the class $\mathcal{M}_{a, \lambda}^{\alpha}(h, \sigma)$.
Theorem 4.2. Let $f \in \mathcal{M}_{a, \lambda}^{\alpha}(h, 0)$. Then $f \in \mathcal{M}_{a, \lambda}^{\alpha}(h, \sigma)$, for $|z|<r_{\sigma}$, where

$$
\begin{equation*}
r_{\sigma}=\left(1+\sigma^{2}\right)^{\frac{1}{2}}-\sigma . \tag{4.1}
\end{equation*}
$$

Proof. Let

$$
p(z)=\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right),
$$

where $p(z)$ is analytic in $E$, with $p(0)=1$. Then

$$
\begin{equation*}
p^{\prime}(z)+\sigma z p^{\prime \prime}(z)=\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime} * g_{\sigma}(z), \tag{4.2}
\end{equation*}
$$

where $g_{\sigma}(z)=\frac{z-(1-\sigma) z^{2}}{(1-z)^{2}}$. It is known [17] that $\mathfrak{R e}\left(\frac{g_{\sigma}(z)}{z}\right)>\frac{1}{2}$ in $|z|<r_{\sigma}$. This implies that $\frac{g_{\sigma}(z)}{z} \prec h_{2}(z)$ and $\mathfrak{R e}\left(h_{2}(z)\right)>\frac{1}{2}$ in $|z|<r_{\sigma}$. Now by using Lemma 2.4 and from (4.2), we obtain

$$
p^{\prime}(z)+\sigma z p^{\prime \prime}(z) \prec h_{2}(z) * h(z) \prec h(z) \text { in }|z|<r_{\sigma} .
$$

It follows that

$$
p^{\prime}(z)+\sigma z p^{\prime \prime}(z)=\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime}+\sigma z\left(\mathcal{L}_{a, \lambda}^{\alpha} f(z)\right)^{\prime \prime} \prec h(z) \text { in }|z|<r_{\sigma} .
$$

Thus $f \in \mathcal{M}_{a, \lambda}^{\alpha}(h, \sigma)$ in $|z|<r_{\sigma}$, where $r_{\sigma}$ is given by (4.1).
Acknowledgements. The authors are grateful to Dr. S. M. Junaid Zaidi, Rector, COMSATS Institute of Information Technology, Pakistan for providing excellent research and academic environment. This research is supported by the HEC NPRU project No: 20-1966/R\&D/11-2553, titled, Research unit of Academic Excellence in Geometric Functions Theory and Applications.

## References

[1] F. M. Al-Oboudi and K. A. Al-Amoudi, On classes of analytic functions related to conic domains, J. Math. Anal. Appl., 339(2008), 655-667.
[2] F. M. Al-Oboudi and K. A. Al-Amoudi, Subordination results for classes of analytic functions related to conic domains defined by a fractional operator, J. Math. Anal. Appl., 354(2009), 412-420.
[3] S. D. Bernardi, Convex and starlike univalent functions, Trans. Amer. Math. Soc., 135(1969), 429-446.
[4] S. Bulut, A new subclass of analytic functions defined by generalized Ruscheweyh differential operator, J. Ineq. Appl., (2008), Art. ID 134932, 12 pp.
[5] S. Bulut, Some properties for an integral operator defined by Al-Oboudi differential operator, J. Ineq. Pure Appl. Math., 9 (4)(2008), Article 115, 5 pp.
[6] S. Bulut, Univalence preserving integral operators defined by generalized Al-Oboudi differential operator, An. St. Univ. Ovidius Constanta, 17(1)(2009), 37-50.
[7] S. Bulut, An integral univalent operator defined by generalized Al-Oboudi differential operator on the classes $\mathcal{T}_{j}, \mathcal{T}_{j, \mu}$ and $\mathcal{S}_{j}(p)$, Novi Sad J. Math., 40(1)(2010), 43-53.
[8] S. Bulut, A new univalent integral operator defined by Al-Oboudi differential operator, Gen. Math., 18(2)(2010), 85-93.
[9] P. L. Duren, Univalent functions, Springer-Verlog, New York, Berlin, 1983.
[10] A. W. Goodman, Univalent Functions, Vols. I, II, Mariner publishing company, Tampa, Florida, USA. 1983.
[11] D. I. Hallenbeck and St. Ruscheweyh, Subordination by convex functions, Proc. Amer. Math. Soc., 52(1975), 191-195.
[12] R. W. Ibrahim and M. Darus, A note on fractional differential subordination based on the Srivastava-Owa operator, Math. Comput. Appl., 19(2)(2014), 115-123.
[13] S. Kanas, Techniques of the differential subordination for domains bounded by conic sections, Int. J. Math. Math. Sci., 38(2003), 2389-2400.
[14] S. Kanas and A. Wiśniowska, Conic domains and starlike functions, Rev. Roumaine Math. Pures Appl., 45(2000), 647-657.
[15] S. Kanas and A. Wiśniowska, Conic regions and $k$-uniform convexity, J. Comput. Appl. Math., 105(1999), 327-336.
[16] S. Kanas and H. M. Srivastava, Linear operators associated with $k$-uniformly convex functions, Integral Transform. Spec. Funct., 9(2000), 121-132.
[17] J. -L. Liu and K. I. Noor, On subordinations for certain analytic functions associated with Noor integral operator, Appl. Math. Comput., 187(2007), 1453-1460.
[18] S. S. Miller and P. T. Mocanu, Differential Subordinations, Theory and Applications, Monographs and Textbooks in Pure and Applied Mathematics, 225, Marcel Dekker Inc., New York, 2000.
[19] A. K. Mishra and P. Gochhayat, Applications of Owa-Srivastava operator to the class of $k$-uniformly convex functions, Fract. Calc. Appl. Anal., 9(4)(2006), 323-331.
[20] K. I. Noor, Applications of certain operators to the classes of analytic functions related with generalized conic domains, Comput. Math. Appl., 62(2001), 4194-4206.
[21] K. I. Noor, M. A. Noor and R. Murtaza, Inclusion properties with applications for certain subclasses of analytic functions, Appl. Math. Inf. Sci., 9(1)(2015), 491-500.
[22] K. I. Noor, Q. Z. Ahmad and M. A. Noor, On some subclasses of analytic functions defined by fractional derivative in the conic regions, Appl. Math. Inf. Sci., 9(2)(2015), 819-824.
[23] S. Owa, On the distortion theorem I, Kyungpook Math. J., 18(1)(1978), 53-59.
[24] S. Owa and H. M. Srivastava, Univalent and starlike generalized hypergeometric functions, Canad. J. Math., 39(5)(1987), 1057-1077.
[25] O. Ozkan and O. Atintas, Applications of differential subordination, Appl. Math. Lett., 19(2006), 728-734.
[26] K. S. Padmanabhan and R. Parvatham, Some applications of differential subordination, Bull. Austral. Math. Soc., 32(1985), 321-330.
[27] Ch. Pommerenke, Univalent Functions, Vandenhoeck und Ruprecht, Gottingen, 1975.
[28] S. Ruscheweyh, New criteria for univalent functions, Proc. Amer. Math. Soc., 49(1975), 109-115.
[29] H. M. Srivastava and A. K. Mishra, Applications of fractional calculus to parabolic starlike and uniformly convex functions, Comput. Math. Appl., 39(2000), 57-69.
[30] H. M. Srivastava and S. Owa, Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard products, linear operators, and certain subclasses of analytic functions, Nagoya Math. J., 106(1987), 1-28.

